Stat 103 - Spring 2014


Quiz 9 Solutions

1.  An antismoking group recently published a large ad in newspapers throughout Florida. They are concerned, however, that smokers might have read less of the ad than nonsmokers. The group conducted a survey asking those who saw the ad if they read: (1) the headline only, (2) some of the details, or (3) most of the ad. Respondents were also asked to identify themselves as a: (1) heavy smoker, (2) moderate smoker, (3) light smoker, or (4) nonsmoker. Use the data in the file Smoker to determine if the level of smoking affects how much one reads of an antismoking ad.

From the p-value of 0.0000 we can conclude that the amount that a person smokes affects how much of the anti smoking ad they are likely to read. From the mosaic plot below it is apparent that the more a person smokes the more likely they are to read the headline only, and the less likely they are to read the ad in depth.
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2.  Correctly forecasting the direction and size of changes in foreign currency exchange rates can be highly profitable. Predictions of 216 investors, together with the actual directions of change, are stored in the file Currency where predicted change equals: (1) if positive, (2) if negative, and the actual change equals: (1) if positive, and (2) if negative. Does a relationship exist between the predicted and actual directions of change?

From the p-value of 0.4225 there does not appear to be a significant connection between the investors’ prediction and the actual change.
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